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Note: Please identify the choice that best complaestatement or answer the question. Each qudi®
2.5 points.
1. Inthe simple linear regression model, the st@peesents the:

value ofy whenx = 0.

average change inper unit change ir.

value ofx wheny = 0.

average change per unit change ig.

If eventA and evenB cannot occur at the same time, tiAeandB are said to be

a
b

c

d

2

a. mutually exclusive
b. independent

c. collectively exhaustive
d. None of these choices.
3. Intesting the difference between two populatimrans using two independent samples, we use the
pooled variance in estimating the standard erroh@sampling distribution of the sample mean déffiee
X —x if

a. the sample sizes are both large.

b. the populations are normal with equal variances.

c. the populations are non-normal with unequal vaganc

d. All of these choices are true.

4. A survey claims that 9 out of 10 doctors recomdnaspirin for their patients with headaches. Bb te
this claim against the alternative that the agwaportion of doctors who recommend aspirin is thas
0.90, a random sample of 100 doctors' results wl@3indicate that they recommend aspirin. Theeali
the test statistic in this problem is approximatedyal to:

a. -1.67

b. -2.33

c. -1.86

d. -0.14

5. In a multiple regression analysis involvinindependent variables andlata points, the number of
degrees of freedom associated with the sum of egdar error is:

a. k-1

b. n-k

c. n-1

d n-k-1

6.  Which of the following is true regarding the gdimg distribution of the mean for a large sampie?
Assume the population distribution is not normal.
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It has the same shape, mean and standard deaatitie population.
It has the same mean as the population, but aeliffshape and standard deviation.
It the same mean and standard deviation as thdaiimpy but a different shape.
It has the same shape and mean as the populatioa different standard deviation.
A standard normal distribution is a normal dlgttion with:
a mean of zero and a standard deviation of one.
a mean of one and a standard deviation of zero.
a mean always larger than the standard deviation.
None of these choices.
Which of the following is not true for an expaial distribution with paramete}?
“=1A
o=1
TheY-intercept off(x) is A.
All of these choices are true.
The portfolio expected return of two investments
will be higher when the covariance is zero.
will be higher when the covariance is negative.
will be higher when the covariance is positive.

g 0 o o o U H oo oD L Na o oD

. does not depend on the covariance.

10. Itis desired to estimate the average totalpsmreation of CEOs in the publishing industry. Dedsie
randomly collected from 18 CEOs and 95% confidentarval was calculated to be ($2,190,000,
$4,720,000). Based on the interval above, do ytieveethe actual average total compensation of CBEOs
the publishing industry could be $3,000,000?

a. Yes, and | am sure of that.

b. Yes, and | am 95% confident of that.

c. No, and | am sure of that.

d. No, and | am 95% confident of that.

11. The weighted average of the possible valudsathendom variabl can assume, where the weights
are the probabilities of occurrence of those valiseeferred to as the:

a. variance.

b. standard deviation.

c. expected value.

d. None of these choices.

12. Which of the following has a mean and variathet depend on degrees of freedom?

a. Student
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c. F
d. All of these choices are true.
13. The ratio of two independent chi-squared véembivided by their degrees of freedom is:
a. normally distributed
b. Student-distributed
c. chi-squared distributed
d. F-distributed
14. Which of the following statements is corregarling the percentile points of tRedistribution?
a. I:0.10,10,20= 1A:0.90,10,20
b- I:0.90,10,20= 1A:0.10,20,10
C. I:0.90,10,20= 1A:0.90,20,10
d- I:0.10,10,20= 1A:0.10,20,10
15. Suppose that we reject a null hypothesis ad 1D% level of significance. Then for which of the
following a-values do we also reject the null hypothesis?
a. 0.06
b. 0.04
c. 0.03
d. 0.02
16. If two random samples of sizesandn, are selected independently from two non-normahjrithuted

populations, then the sampling distribution of saeple mean differencet; — X, is

a.
b.
c.
d.

17.

a.
b.
c.
d.

18.

always non-normal
always normal
approximately normal only ifiy andn, are both larger than or equal to 30
approximately normal regardlessrafandn,
The power of a test is measured by its capgplodi
rejecting a null hypothesis that is true.
not rejecting a null hypothesis that is true.
rejecting a null hypothesis that is false.
not rejecting a null hypothesis that is false.
A sample of sizais selected at random from an infinite populatidan increases, which of the

following statements is true?

a.
b.

C.

The population standard deviation decreases.
The standard error of the sample mean decreases.
The population standard deviation increases.
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d. The standard error of the sample mean increases.

19. Which of the following statistics and proceducan be used to determine whether a linear model
should be employed?

a. The standard error of estimate.

b. The coefficient of determination.

c. Thet-test of the slope.

d. All of these choices are true.

20. When the independent variables are correlaitdone another in a multiple regression analykis,
condition is called:

a. heteroscedasticity.

b. homoscedasticity.

c. multicollinearity.

d. None of these choices.

21. A Type | error is committed if we make:

a. a correct decision when the null hypothesis isfals

b. a correct decision when the null hypothesis is.true

c. an incorrect decision when the null hypothesisisd.

d. an incorrect decision when the null hypothesistie.t

22. If the probability of committing a Type | errfur a given test is decreased, then for a fixeda size
n, the probability of committing a Type Il error Wil

a. decrease.

b. increase.

c. stay the same.

d. Not enough information to tell.

23. Inregression analysis, the residuals reprabent

a. difference between the actyavalues and their predicted values.

b. difference between the actuavalues and their predicted values.

c. square root of the slope of the regression line.

d. change iry per unit change ir.

24. In the one-way ANOVA whelkeis the number of treatments amis the number of observations in all
samples, the number of degrees of freedom for e&ror

a. k-1
b. n-1
c. n—-k
d n-k+1
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25. Which of the following is not a characterigtica binomial experiment?
a. Each trial results in two or more outcomes.
b. There is a sequence of identical trials.
c. The trials are independent of each other.
d. The probability of succegsis the same from one trial to another.
26. Using a confidence interval when conductingettail test fory, we do not rejedt, if the
hypothesized value fqr.
a. isto the left of the lower confidence limit (LCL).
b. is to the right of the upper confidence limit (UCL)
c. falls between the LCL and UCL.
d. fallsin the rejection region.
27. If we reject the null hypothesis, we concluaztt
a. there is enough statistical evidence to infer thatalternative hypothesis is true.
b. there is not enough statistical evidence to irtfat the alternative hypothesis is true.
c. there is enough statistical evidence to infer thatnull hypothesis is true.
. there is not enough statistical evidence to irfat the null hypothesis is true.
28. If AandB are any two events with(A) = .8 andP(B|A°) = .7, thenP(A° andB) is
a. 0.56
b. 0.14
c. 150
d. None of these choices.
29. In a simple linear regression problem, theofeihg statistics are calculated from a sample of 10

observationszz (x—X)y-¥ =12250, 5, =10, Zx = A0, Zy = 75. The least squares estimates of the

slope and-intercept are, respectively,

a. 1.5and 0.5
b. 25and 1.5
c. 1.5and 25
d. 2.5and-5.0

30. The Central Limit Theorem states that, if adan sample of sizeis drawn from a population, then
the sampling distribution of the sample meXin

a. is approximately normal ifi < 30.

b. is approximately normal ifi > 30.

c. is approximately normal if the underlying populatis normal.

d. None of these choices.
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31. For the following multiple regression mody = 2 - 3x; +4x, + 5x5, a unit increase iy, holdingx,
andxs constant, results in:

a. adecrease of 3 units on average in the valye of

b. anincrease of 8 units in the valueyof

c. an increase of 3 units on average in the valye of

d. None of these choices.

32. Which of the following about the binomial dibtrtion is not a true statement?
a. The probability of success must be constant framhtt trial.

b. The random variable of interest is continuous.

c. Each outcome may be classified as either "sucaes$dilure”.

d. Each outcome is independent of the other.

33. Suppos®(A) = 0.60,P(B) = 0.85, andA andB are independent. The probability of the complenaént

the eventA andB) is:
a. .4x.15=.060
b. 040+ .15=.55
c. 1-(.40+.15)=.45
d. 1-(.6x.85)=.490
34. Two independent samples of sizes 20 and 3faadomly selected from two normally distributed
populations. Assume that the population variancesiaknown but equal. In order to test the diffeeen
between the population mearu,; — ., the sampling distribution of the sample mearetidhce,z; - x,, is:
a. normal.
b. Studentt with 50 degrees of freedom.
c. Studert with 48 degrees of freedom.
d. None of these choices.
35. Supposéx) = 1/4 over the range< x < b, and supposB(X > 4) = 1/2. What are the values #oand
b?
a. Oand 4
b. 2and6
c. Can be any range afvalues whose lengtlb ¢ a) equals 4.
d. Cannot answer with the information given.
36. Suppose a 95% confidence intervalgaurns out to be (1,000, 2,100). What does it nedre 95%
confident?
a. Inrepeated sampling, the population parameter avialll in the resulting interval 95% of
the time.
b. 95% of the observations in the entire populatidhificthe given interval.
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c.
d.

37.

a.
b.
c.

d.

38.

95% of the observations in the sample fall in theg interval.
None of these choices.
Which of the following statements is correct?
The sample mean is an unbiased estimator of thelgtign mean.
The sample proportion is an unbiased estimatdnepbpulation proportion.
The difference between two sample means is an sebiastimator of the difference
between two population means.
All of these choices are true.
For a two-tail test, the null hypothesis wil kejected at the 0.05 level of significance if thgue of

the standardized test statistirs:

a. smaller than 1.96 or greater thah96

b. greater thar1.96 or smaller than 1.96

c. smaller than-1.96 or greater than 1.96

d. greater than 1.645 or less thah645

39. If X andY are independent random variables, which of tHeviahg identities is false?

a. Covix,n=1

b. EX+Y)=E(X) +E(Y)

c. VX+Y)=V(X) +V(Y)

d. All of these choices are true.

40. A sample of 250 observations is selected ataanfrom an infinite population. Given that the
population proportion is .25, the standard errahefsampling distribution of the sample proportign
a. 0.0274

b. 0.5000

c. 0.0316

d. 0.0548
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